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P. 381, line 21 k not h.

P. 382, insert 'log' between end of line 8 of legend and beginning of line 9.

P. 382, line 10 of legend, insert 'log' between '0-6' and 'scotopic trolands'.

P. 388, the denominator of the middle term of eqn. (4) should be

q2 (s~s) not q2 (t)._

P. 407, in the first equation following eqn. (5b) (5-0 5) should be raised to
the power of 0.5.

P. 407, in the second equation following eqn. (5b) the sign + should be
altered to x .

P. 415, line 19, insert A after the word 'hypothesis'.

Pp. 412-416, the variance o. is sometimes given as ox.

P. 424, penultimate line, delete the right-hand parenthesis.

P. 424, last line, insert a right-hand parenthesis between 'system' and the
exponent '0 5'.

P. 427, last value in the third column should be 2 x 10-5.

P. 428, line 24, delete the g' in f& (logN).


